
PERMANOVA, p = 0.003
−0.50

−0.25

0.00

0.25

0.50

−0.3 0.0 0.3 0.6
PCo 1 [41.1 %]

P
C

o 
2 

[1
6.

1 
%

]
A

PERMANOVA, p = 0.001
−0.50

−0.25

0.00

0.25

0.50

−0.3 0.0 0.3 0.6
PCo 1 [41.4 %]

P
C

o 
2 

[1
4.

8 
%

]

B

PERMANOVA, p = 0.001
−0.50

−0.25

0.00

0.25

0.50

−0.3 0.0 0.3 0.6
PCo 1 [56.7 %]

P
C

o 
2 

[1
1.

7 
%

]

C

PERMANOVA, p = 0.001

−0.2

0.0

0.2

−0.4 −0.2 0.0 0.2
PCo 1 [18.6 %]

P
C

o 
2 

[9
.1

 %
]

D

PERMANOVA, p = 0.001

−0.2

0.0

0.2

−0.4 −0.2 0.0 0.2
PCo 1 [15.6 %]

P
C

o 
2 

[1
0.

4 
%

]

E

PERMANOVA, p = 0.001

−0.2

0.0

0.2

−0.4 −0.2 0.0 0.2
PCo 1 [16.7 %]

P
C

o 
2 

[1
2.

7 
%

]

F

Group d21 d24 d29


